Desk Pedestals







& Please check that you have all the fittings

(¥

(@

((

P

LUNUNLALNNY

,
AN

<

Minifix cam 15N Quickfix spread bolt 1"1/4 x 8 screw
4 CAMO3 4 BLTO6 4 SCR12

Handle screw M4x22

(¥

BLT25 1
=
t_v;
=
=
lvl
|
=
=
N
=
\—?
\V/
Minifix cam 15N Quickfix spread bolt 1"1/4 x 8 screw
4 CAMO3 4 BLTO06 4 SCR12
Minifix cam 15N Quickfix spread bolt 1"1/4 x 8 screw M4x22 COMBI BOLT CH/LF (LARGO) HANDLE
CAMO03 BLT06 SCR12 SCR25 HDLO09
=
=
=
=
=
=
(=i
=
<
N’
\VZ
Minifix cam 15N Quickfix spread bolt 1"1/4 x 8 screw M4x22 COMBI BOLT CH/LF (LARGO) HANDLE
CAMO03 BLT06 SCR12 SCR25 HDLO09

3






2X camo3

4X BLTOS

—r

WL — 8

\
\ dic=c0

o— =0












	PEDESTAL INSTRUCT PAGE 1 (1).pdf
	PEDESTAL INSTRUCT PAGE 2 (1).pdf
	PEDESTAL INSTRUCT PAGE 3 (1).pdf
	PEDESTAL INSTRUCT PAGE 4 (1).pdf
	PEDESTAL INSTRUCT PAGE 5 (1).pdf
	PEDESTAL INSTRUCT PAGE 6 (1).pdf
	PEDESTAL INSTRUCT PAGE 7 (1).pdf
	PEDESTAL INSTRUCT PAGE 8 (1).pdf

